
MARKING SCHEME
CLASS: XII
                         SUB. CHEMISTRY			`

Ans.1-> 2-bromo-1-methoxypropane.							1
Ans.2->. Defination of Hardy Schulze rule.
Ans 3.	The ligands which has two different doner sites but one they act as unidentat       1 Ans 4. Correct structure									          1
Ans 5. XY											
Ans.6.(i) It is due to d-d transition.
	 (ii) It is due to more surface area of d-block metals and variable oxidation states.
Ans 7.  (a) Due  to resonating structure of aniline availability of lone pair is decreases.
         (b) Because of steric hinderance is their in tertiary amines.			     1+1
											
Ans.8.(i) CH3NH2 +CHCl3 +3KOH → CH3NC+3H2O +3KCl        (carbyl amine rx)
              (ii) C2H5CONH2 +Br2 +4NaOH → C2H5NH2 +2NaBr +Na2CO3 +2H2O
                          (Hofmann bromamiderx)			
Ans.9. (a) Defination of activation energy. K=Ae-Ea/RT				       1/2+1/2+1     
          (b) Correct explanation.
Ans.10. For correct formula +correct solution +correct ans.+unit	4x ½ =2		
Ans.11 Correct explanations of each    1+1+1 					
			OR
 (a) It will denatured 
	 (b) Fat soluble-A,D,E and K and water soluble vitamins-C and B. 	      1+2=3
Ans.12. Correct mechanism of the formation of diethyl ether.(each step 1mark x3=3) 
Ans.13. Correct principle of each 1X3=3
Ans.14	 For each correct conversion   1X3=3
Ans.15 For each correct definition   1X3=3
Ans. 16. (a) IUPAC name  :Pentaaquachlorochromiumsulphate		1+1+1
	   (b) 2           (c) Ionisation isomerism
Ans. 17. Correct Explanation each							             1+1+1
Ans. 18. Account for the following:							             1+1+1
         (a) PCl4+ (tetrahedral)and PCl6- (octahedral) in solid state.
         (b) Tribasic.
         (c) Monoatomic which have no interatomic forces except dispersion force. 
Ans. 19.(a)Pseudo order reaction-which molecularity is 2 but order is 1 + example-   
                  hydrolysis of  ester						 1+2
	 (b) Correct formula+correctcalculation+correc answer 	½+1+1/2
Ans. 20.(a) 1 – bromobutane because it form transition state.

          (b) Because of resonance it is more stabe (carbocation)
          (c) KCN is ionic and give CN- ,AgCN is covalent so N attack to the compound and 
                form isocyanide as main product. 					            1+1+1
Ans. 21. Account for the following:								1+1+1
           (a) Because of its anti blood clotting action.
           (b) Because it has no nutrient value and excreted from the body in urine unchanged.
           (c) Detergents are non-biodegradable while soaps are biodegradable
Ans.22	(i)  Reasons : (a) Because of paired electron				1+1+1=3
          (b) for getting stable configuration 
(ii) lanthanide contraction+two examples (Ce, Gd)+   +3oxidation states exhibited     
by  lanthanide elements.
Ans.23.(i)	Polyethene is banned because of being non-bidegradable.
(ii) Use of polyethene bags results in pollution as polyethene is non-biodegradable.
(Value:Reducing environmental pollution,concern for environmental protection.)
(iii) Organising mass campaigns for speading awareness /use of mass media to educate people.  
Ans.24  (a) Correct Brief account - 								 1+1=2
(b) Draw the structure of  (i) XeOF2  (b) XeF6  (c) BF3			1+1+1=3
OR
        (a)  Account for the following observations					1+1+1=3
           (i) Because it has maximum electron negativity so it reduce easily
           (ii) Smaller size, maximum electron negitivity.
(iii)     As oxidation number increase acidic character also increase
(b)		For each correct reason    1x2=2
Ans. 25. (a) Correct explanation of: (i) Aldol condensation (ii) Cannizaro reaction.	1x2=2	
           (b) Correct distinguish each					                1x3=3
OR
      (a) Correct Explanation of					1x2=2
 (i) Clemenson reaction (ii) Reimer Tiemann reaction 
      (b) It is propanone and correct reactions.			1x3=3		                2+3
Ans. 26. (a) Kohlrausch’s law of independent migration of ions. 		                    1
           (b) Molar conductivity+ effect of temperature on molar conductivity.		     1+1
                 (c) Correct formula+correctcalculation+correct answer		    1/2 +1+ 1/2.
					

                                                                  OR
(a) Correct Nernst equation								   1
(b) E=2.303RT/nF X logK								             
(c) short notes on fuel cell				          				         1
[bookmark: _GoBack](d) Correct formula+correctcalculation+correct answer		  1/2 +1+ 1/2
